
Math 39100:Feb. 1.2023: LECTURE3

Quiz: Monday, Feb. 6. 2023

(lUmins) on sections 2.2, and 2.1 (beginnies ofclass)
(Sep.22., Homog, and linear
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How tocheckif on ODEis Homogeneous?

Given y =f(x,y)

assume itis notseparable.
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S2.1 Linear D.E (Method ofIntegrating Factor)

Linear D.E. in standard form:( p(X) y =g(X)
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Given y+P(x)y =g(x). [L.S.F]
We need a function, an integrating factor, denoted by
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#PS: i) If the ODFis linear, express it in S.F.

y+p(x)y =g(x)

ii) Identify p(X) correctly.

SP(X) dX
iii) Find the integrating faster: m(x) =e

(iv) mult:the D.E in SoF by M(x). (Check that

the lefthand side is - (r(x)u]

v) Integrate both sides.
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